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TrigonometryExercise Answers for ID 9594

[TI] =0, [T2] =m, [T3] =0, [T4] ==, []5]::251
16 =2F =ty =t oy =E o=t
[T6]==2,  [T7]=",  [T8]=",  [T9 =7  [TI0] =7
r11 = 2= 112 =% 7137 == 7141 <% .1
[Tl ==  [M2]=— [T3]==1 [Tl = [TI5]=
rie =5 =l ms =t me =2 ooy -
[riej==- [TI7] ==~ [TI§] =", [TI9] === [T20] =—
[T21] =0,  [T22]=-1,  [T23]=0,  [T24]=-1,  [T25]=-1, @
[T26] =0,  [T27]=1,  [T28] =0, [T29]:%, [ngj_@, @
[T31]=2,  [T32] =43, [T33]:—@, [T34]:@, [T35] =1, @
[736] =2, [T37]:§, [T38]:—@, [T39]=@, [T40] =2, @
[T41] =11, [T42] =1, [T43] = 12, [T44] =25
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TrigonometryExercise Answers for ID 9608

[T]] =m, [T2] =0, [T3] =m, [T4] =0, [T5]:§
T6, —3—TC 17, - 78 —3—n T9 —Z—R T10, _4_7:
[ ]'_ 2 > [ 4]_ 29 [ ]'_ 2 > [ ]'_ 3 H [ ]‘_ 3
T11 ek Ti2 - T13 _= T14 _3n T15 ek
[ ]'_ 3 > [ ] - 37 [ ‘]_ 4> [ ]'_ 4 s [ ]'_ 4
Ti6 —ﬁ T17 _Z TIS8 —S—R T19 —7—TC T20] = Hr
[rej ==, [T07]="0,  [TI8 ==~ [T19] ==~ [T20] ==/
[T21] =1, [T22] =0, [T23] =-1, [T24] ="undefined", [T25] =0, ,@
[T26] =-1,  [T27] =0,  [T28] ="undefined",  [T29] = @ [T30] = ;1 , @
[T31] = f [T32] =-2,  [T33] = —ﬁ /2 ,

5 [T34] ==, [T35] =1,

[T36] = /2, [T37]:%, [T38]=—73 [T39]:@, [T40] =43,

[T41] =6,  [T42] =23,  [T43] =11,  [T44]=-3
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TrigonometryExercise Answers for ID 9646

[T1] ==, [T2] =m, [T3] =0, [T4] =0, [T5]:§

3n 37 b 27 41
[T6]:T, [T7]:7’ [T8]:;, [T9]:T, [T]O]:T
i S5n T Tn b
[TI]]:;, [TIZ]:T, [T13]:1, [T]4]:T, [T]5]:T
3n Tr I1n b S5n
[T16]:T’ [T17]:?, [T18]:T, [T19]:E, [T20]:?

[T21] =0, [T22] =1, [T23] =-1, [T24] ="undefined", [T25] =1, ,7\
[T26] =0, [T27] =1, [T28] = "undefined", [T29] :%, [/T30] —@, ,@
[T31]:@, [T32]:#, [T33]:@, [T34]:—@, [T35]:—«\/;, ,@
[T36] =1, [T37]:%, [T38]:—@, [T39]:—¥, [T40]:«/;, ,7\

[T41] =6,  [T42] =62,  [T43] =-10,  [T44] =63
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TrigonometryExercise Answers for ID 9649

[Tl]=n,  [T2]=0, [T3]=0, [T4]=n, [T5]=3TTE

T6, _Z 17, _Z 78 —3—7[ 79 —4—n T10, —S—R
[]_2a []_2a []_23 []_3’ [ ]_3
T11 - Ti2 _2n T13 Iz T14 _3r Ti5 -
[ ]_ 37 [ ]_ 3 s [ ]_ 4 > [ ]_ 4 > [ ]_ 4
Ti6 —ﬂ T17 —S—TC T18 —H—TC T19 _Z 720 _7_7:
rej === [T7]==~  [TI§] ==~ [TI9] =" [T20] ==
[T21] =0, [T22] =-1, [T23] =0, [T24] ="undefined", [T25] =-1, ,@
/3 ]
[T26] =0, [T27] =0,  [T28] ="undefined",  [T29] ===, [T30] =7, S
[T31] =-2,  [T32] = @ [T33] = @ [T34] = 72 [T35] =2, , @
[T36] =1,  [T37] =- £ [T38] = % [T39] = — % [T40] = -2, , @

[T41] =-8,  [T42] =-56,  [T43] =-8,  [T44] =0
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TrigonometryExercise Answers for ID 9669

[T1] =0, [T2]=n, [T3]=n,  [T4]=0,  [T5]= 32—n
76, = 17 = T8 _3_75 79 —4—n T10, _5_1:
[]_29 [.]_29 [.]_27 []_33 [ ]_3
T11 —2—n TI2 - T13 —3—7[ T14 —7—n TI5 i
[ ]_ 3 > [ ]_ 39 [ ]_ 4 > [ ]_ 4 > [ ]_ 4
Ti6, ek T17, 1 T18 ek T19] = Hr 720 -
[ ]_ 4 H [ ]_ 6 H [ ]_ 6 s [ ]_ 6 H [ ]_ 6
[T21] =0,  [T22] =-1,  [T23] =0,  [T24] ="undefined",  [T25] =0, @
1 I3 \
[T26] =-1,  [T27] ="undefined",  [T28] =0,  [T29]=_.  [T30]=-=—, m—
[T31] =43, [T32]:#, /2

/
[T33] = 72 [T34] = —ﬁ, [T35] =2, , @
A3

[T39] =2,

[T36] =1, [T37]=%, [138] ==~
[T41] = -10,

[T40] =
[T42] =17,

R
[T44] = -491

=
e

[T43] = 19,
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TrigonometryExercise Answers for ID 9717

[Tl]=r,  [T2]=0, [T3]=0, [T4]=n,  [T5] :g
T6, —3—7[ 17, —3—n T8 i~ 79 = T10 —4—n
[]_23 []_2’ []_2’ []_3’ [ ]_3
T11 ek Ti2 72_75 Ti3 - T14 *3—n TI15 UL
[ ]_ 3 > [ ]_ 3 > [ ]_ 47 [ ]_ 4 s [ ] 4
T16, —ﬂ Ti7 = Ti8 —7—n T19] = Hr 720 —S—R
[T16] === [T17] ="¢ [TI8] ==~ [TI9] === [120] ==,
[T21] =-1, [122] =0, [123] =0, [T24] = "undefined", [T25] =1, ,@
[T26] =0,  [T27] =-1,  [T28] ="undefined",  [T29] = % [T30] = @ , @
[T31] = @ [T32] =43, [T33] = ﬁ [T34] =— @ [T35] =1, @
[T36] =1, [T37]:£, [138] =7, [T39]=@, [T40] =43, Al
[T41] =9, [T42] =-2,
X [Page = 0003]

/
[T43] =-13,

= [T44] = -432
):9:0:0.0:9.9:0.9:9.:9:0.9:9.:9:0.9:0:0:0.0:9.0:0.9:9.9:0.9:0:9:0.9:0:0:0.0:0:0:0.0:9.9:0.0:0:9:0.0:9:0:0.0:0:0:0.0:9.0:0.0:9.0:0.0:9.0:0.0:0.0:0.0:9:0:0.0.:0.0:0.0:0:9:0.0:0.0:0.0:¢




X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXKXXXXXXXXXXX XX XX XXX XX XXXXXXXM5/1-6600301-00007XX
TrigonometryExercise Answers for ID 9763

[Tl]=n,  [T2] =0,

3n
[T3]=0,  [T4] =m,  [T5]=""
76, —3_n 17 - T8 s T9 —2—n T10, _5_15
[rep=—>- (7] =72, (T8 =" [T =" [T10] ==
T11 —4—7[ T12 - T13 £k T14 —S—T[ T15 —7—7[
[ ] 3 > [ ] - 39 [ ] - 4 > [ ] - 4 > [ ] - 4
T16, = T17, 1z T18 Hr T19 ek 120 =
[T1e] =75 [T17] =—¢ [T18] === [TI9] ==, (120 ="
[T21] =-1,  [T22] =0,

\
[T23] ="undefined”, (1247 =0, [125]=-1, .
1 I3

[T26] =0, [T27] ="undefined”,  [T28] =1,  [T29] =7,  [T30] =",

[T31] =2,  [T32] =£ /2 ﬁ

T [T1=- (T3] =

~

[735]::\[5’ >_7L
[T36] =—[2,  [T37] =- @ [T38] = % [T39] =4[3,  [T40] = @ , 7\
[T41] =-6,  [T42] =-81,

[T43] =4,  [T44] =3
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TrigonometryExercise Answers for ID 9877

[T1] =0,  [T2] =0,

/T3] ==, [T4] ==, [T5]:§
T6, in T7 in T8 79 _4_7: TI10 —Z—R
[T ="7 =T T8 =T (19 =", [TI0] =7
Tl n Ti2 i Ti3 on Ti4 *7— T15 n
[]—3 []—3 []—4, []4 []4
b4 77c b S5n IIm
[T16]:1, [T17]— [T18]—— [T19]—? [T20] = p
[T21] =-1 [T22] =0, [T23] = "undefined", [T24] =0, [T25] =1, ,@
[T26] =0, [/T27] = "undefined", [T28] =1, [T29] = —@, [/T30] :%, s @
[T31]:«/§, [T32] =2, [T33]:—@, [T34]=@, [T35] =1,

[T36] =42, [T37] =-

- [

A
y
-1 3
L1387, [T39] =43, [T40]:§, #
[T41] =42,  [T42] =2,
X [Page = 0004]

[T43] =29,  [T44] =-23
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TrigonometryExercise Answers for ID 9911

[T]] ==, [T2] =m, [T3] =0, [T4] =0, []“5]:377.E

3n i
[T6]=77 [T7] =

T8 z T9 hiil T10, on
Y r ]—2, [T9] = 3 [T10] = 3
i 27 e T 37
[T11] =—, [T12] =——, [T13] =——, [T14] =—, [T15] =——
3 4 4 4
S5n S5n K T I1xw
[T16]:T, [T17]:?, [T18]:?, [T19]:g, [T20] =

[T21] =0,  [T22]=1,  [T23]=0, [T24]=1,  [T25] =0,

e

[T26] = -1,

[T27] = "undefined",  /[T28] = "undefined",  [T29] =— @ [T30] = ;1 , @
[T31] =-2,  [T32] = @ [T33] = @ [T34] = - @ [T35] =2, , @
[T36] =1,  [T37] = ;1 [T38] = @ [T39] =-2,  [T40] = @ , @
[T41] =-16,  [T42] =33,

[T43] =438,  [T44] =12
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TrigonometryExercise Answers for ID 10027

[T1] =0, [T2] =0, [T3] =m, [T4] ==, [T5]:§

T6—3_n T7—£
[ ==5 (17 =,

T8 EL T9 _Z T10, _2r
(18] == (19 =", ([TI0] ==
T11 _2n Ti2 _in Ti3 ek T4 - TI5 _3n
[ ]_ 3 > [ ]_ 3 > [ ]_ 4 > [ ]_ 47 [ ]_ 4
Ti6 —ﬁ T17 —ﬁ T18 —S—T[ T19] = Hr 120 _Z
[TI6] == [TI7]==—.  [TI8] ="~ [TI9)=——.  [T20]="
[T21] =1,  [T22] =0,  [T23]=0, [T24]=1,  [T25]=-1, @
[T26] =0,  [T27] ="undefined",  /T28] =0,  [T29] =— £ [T30] = -1, , @
[T31] =A[3,  [T32]=2,  [T33] = —@, [T34] :ﬁ, [T35] =42, @
[T36] =1, [T37]:%, [T38]=—T3, [T39]=%, [T40]=@, J/T

[T41] =0,  [T42] =16,  [T43] =167,  [T44] =2
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TrigonometryExercise Answers for ID 10063

[T1] ==, [T2] =0, [T3] =0, [T4] =m, [T5]:§
76, = 17 _3_75 T8 —3—n 79 —ﬂ T10 ==
[ ]_ 29 [ .]_ 2 ’ [ ]_ 2 s [ ]_ 3 4 [ ]_ 3
T11 _2r Ti2 _2r T13 _2r T14 EL TI5 _1r
[ ]_ 3 > [ ]_ 3 > [ ]_ 4 > [ ]_ 4 > [ ]_ 4
T16, _= T17, ek T18 1z T19] = Hr 120 -
[ ]_ 4’ [ ]_ 6 H [ ]_ 6 H [ ]_ 6 H [ ]_ 6
[T21] =0, [T22] =-1, [T23] =0, [T24] ="undefined", [T25] =0, ,@
[T26] =-1,  [T27] =0,  [T28] =-1, [T29]:%, [T30]:£, £

/
[T31] =43, [T32) :i [T33] :—@, 2 @

- (r34] == 135 =2

[T38] = i, [T39] =-2,  [T40] = £ , ﬂ
2 3 /
[T44] = -67

[T36] =1, [T37]:@,

[T41] =13,  [T42] =-20,  [T43] =-2,
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TrigonometryExercise Answers for ID 10120

[Tl]=n,  [T2]=m,  [T3]=0, [T4]=0, [T5]= 32—n
76 - 17 - 78 —3—n T9 _4_7: T10, _Z
[]_23 []_23 []_27 []_3’ [ ]_3
T11 _2n Ti2 ek Ti3 _3r T4 - TI5 2T
[ ]_ 3 > [ ] - 3 > [ ] - 4 > [ ] - 47 [ ] - 4
Ti6 —ﬁ T17] = Hr TIS8 —ﬂ T19 —7—TC 120 _Z
mej==r-,  [I07]=—"  [TI§ ==~ [TI9] === [T20] ="
[T21] =1,  [T22] =0,  [T23]=0,  [T24] ="undefined",  /T25] =0, , ﬂ
[T26] =1,  [T27] ="undefined",  /T28] = "undefined",  [T29] = ;1 [T30] =— £ , @
[T31] =43, [T32]=-2,  [T33]=- g [T34] = —@, [T35] =2, , ﬂ
[T36] =1, [T37]:§, [T38]=%, [T39]=@, [T40] =43, ﬂ

[T41] =-4,  [T42] =27,  [T43] =-15,  [T44] =650
X [Page = 0006]
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TrigonometryExercise Answers for ID 10367
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[T1] =0,  [T2]=0, [T3]=mn,  [T4]=n,  [T5] =37n
b b 3n 27 4n
[T6]:z, [T7]:z, [T8]:7, [T9]:T, [T]O]:T
T11 —S—TE TI2 - T13 = T14 —3—TC T15 —S—T[
[ ] - 3 > [ ] - 39 [ ] - 4, [ ] - 4 > [ ] - 4
Ti6, 1 T17] = Hr T18 ek T19 - 720, 1T
[ ]_ 4 H [ ] - 6 > [ ] - 6 H [ ] - 6’ [ ] - 6
[T21] =-1,  [T22] =0,  [T23] ="undefined",  [T24] =0,  [T25] =1, @
6 1 At
[T26] =0,  [T27] ="undefined",  [T28] =0,  [T29] ===, [T30]=", -
[T31] =+[3,  [T32) :@, [T33] :@, [T34] =@, [T35] =1, 4
[T36] =1,  [T37] = @ [T38] = ?1 [T39] =2, [T40] =43, , £
[T41] =33,  [T42]=-7,  [T43] =16,

/
[T44] =0

TrigonometryExercise Answers for ID 10372
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[T]] =m, [T2] =0, [T3] =m, [T4] =0, [T5]:§
T6, —3—7[ 17, = T8 —3—n 79 = T10 —S—R
[]_23 []_23 []_2’ []_3’ [ ]_3
T11 72_717 Ti2 74_75 Ti3 - T14 ek TI15 ==
[ ]_35 [ ]_35 [ ]_4a [ ]_47 [ ]_4
T16, —ﬁ Ti7 —7—TC TiS8 = T19] = Hr 720 —S—R
[T16] === [TI7] == 7 [TI18] =2, [TI9] === [120] ==,
[T21] =1,  [T22] =0,  [T23]=0,  [T24] ="undefined",  /T25] =-1, , @
3 1 4
[T26]=0,  [T27]=0,  [T28]=1,  [T29]=-——,  [T30]=—, -
[T31] = % [T32] = @ [T33] =— @ [T34] = — @ [T35] =1, , ﬁ
[T36] = /2, [T37]:%, [T38]:—T3, [T39] =2,
[T41] =7,
X [Page = 0007]

i
[T40] =43, o
/
[T42] =20,  [T43] =-114,  [T44]=-3
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TrigonometryExercise Answers for ID 10375

[T]] ==, [T2] =0, [T3] =0, [T4] ==, []5]::251

T6, _11 T7'—§i£ T8 —11 79 —:LE T10 _11
[ .]_ 27 [ .] - 2 B [ ]_ 25 [ ]_ 3 s [ ]_ 3
ry =% iy =2 my =l g =2l s =Z
[ ]_ 3 B [ ] - 3 B [ ] - 4 B [ ] - 4 > [ ] - 4
T16] =2~ T17] == r18) == T19] <% 207 = L%
[ ]_ 4 > [ ]_ 6’ [ ]_ 6 H [ ]_ 6 > [ ]_ 6
[T21] =1,  [T22] =0,  [T23] ="undefined",  [T24] =0,  [T25] =0, , @
|3 I i
[T26] -1, [T27] ="undefined",  [T28] = "undefined",  [T29] ===, [T30] =7, "
[T31] =-2, [T32] =@, [T33] :@, [T34] =—£, [T35] =1, ,@
[736] =42, [T37]=%, [T38]=—@, [T39] =43, [T40]:ﬁ @

3 5 H

[T41] =-14,  [T42] =47,  [T43]=26,  [T44] =-8
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TrigonometryExercise Answers for ID 10426

[Tl]=n,  [T2]=0, [T3]=n,  [T4]=0,  [T5] :37“

o) =~ 17 =7, 78] == T9) == r10) =%
[]_2> []_27 []_27 []_37 [ ]_3
711 _2n TI2 _in TI3 ek TI4 _3r TIS I
[ ]_ 3 > [ ] - 3 > [ ] - 4 H [ ] - 4 H [ ] - 4
T16] =— TI17] = Hr TI8 1z TI9 _2r 720] ==
[]—4, []—6, []—6, []—6, []—6
[T21] =1, [T22] =0, [T23] =0, [T24] =-1, [T25] =0, @
3 3 '
[T26] = -1, [T27] = "undefined", [T28] =0, [T29]:T, [T30]:;, S
[T31]:_¥, [T32] =ﬁ, [T33] =@, [T34] =@, [T35] =ﬁ, @
(136 =1,  [T37] = —g, [T38] =%, [139] =+[3.  [T40] =2, , J/T
[T41] = -18, [T42] = -24,
X [Page = 0008]

[T43] =35,  [T44] =1
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TrigonometryExercise Answers for ID 10628

[T1] =0,

[T2] =0, [T3]=mn,  [T4]=n,  [T5]= 32_“
T 3TE T 21.[ 4TC
[T6]:z» [T7] :77 [T8] :;7 [TQ] :T’ [T]O] :T
iy == T12] =~ r13) =22 T14 =L TI5] =~
[T11] =" [T12] =7, [TI3] =" [TI4] =" [TI5]=",
T16] =~ Ti7] == T18] =T T19) =% 20 =2
[T16] =", [TI7]=".  [TI§]=— . [TI9] ="  [T20] ="
[T21] =0,  [T22] =1,  [T23] ="undefined",  /724] ="undefined",  [725] =-1, @
[T26] =0,  [T27] =0,  [T28] = "undefined", [ngp-@, [T30]:%, 7‘
[T31] =43, [T32]:¥, [T33]:_£’ [T34]:_72, (1357 =2, 7\
[T36] =1, [T37]:@, [T38]:_?, [T39]=@, [T40] = ﬁ @
[T41] =-4,  [T42] =-3,  [T43] =196,  [T44] =-1

X Math@MUT XXXXXXXXXXXXXXKXXKXXXXKXXKXKXXXKX XXX KK XKXKKXXKX KKK KEXXKK XXX KL KKK XXX KX XXX KXKKXMS /1-6600301-00018XX
TrigonometryExercise Answers for ID 11408

[Tl]=n, [T2]=n,  [T3]=0, [T4]=0, [T5] :g
T6, = 17 —3—7[ T8 —3—n 79 = T10 —S—R
[]_2a []_23 []_2’ []_3’ [ ]_3
T11 72_717 Ti2 74_75 Ti3 73_75 T4 - TI5 1z
[ ]_ 3 > [ ] - 3 > [ ] - 4 > [ ] - 47 [ ] - 4
T16, —ﬂ Ti7 —S—TC TiS8 —7—7[ T19] = Hr 720 =
[T16] == [TI7]=" [TI§] ==~ [TI9]=——  [120]="
[T21] =0,  [T22]=-1,  [T23]=0,  [T24]=-1,  [T25] =-1, @
[T26] =0,  [T27] ="undefined",  /T28] =0,  [T29] = ;1 [T30] = @ , @
[T31] =A[3,  [T32] = —%, [T33] = —@, [T34] :@, [T35] =2, , @
[T36] =2, [T37] @ [T38]:%, [T39] =-2, [T40]=—2ﬁ il
[T41] = -38,
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[T42] =-10,  [T43] =8,  [T44] =14
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TrigonometryExercise Answers for ID 11560
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[Tl]=n,  [T2]=0, [T3]=0, [T4] ==,  [T5]= 37“
6] =— 7] == 18] =L 9] =— T10] ==
[.]_27 [.]_27 [.]_25 []_35 [ ]_3
i1 =22 1 =2 T13) =% T4 =2 TI5] =~
[ ] - 3 > [ ] - 3 > [ ] - 4 > [ ] - 4 > [ ] - 4
T16) =~ T17] == T18) == 7107 =1 20 =2
[ ]_ 4 > [ ] - 6’ [ ] - 6 H [ ] - 6 ] [ ] - 6
[T21] =0,  [T22] =-1,  [T23] =1,  [T24] ="undefined",  [T25] =0, @
[T26] =-1,  [T27] ="undefined”,  [T28] = "undefined",  [T29] :—ﬁ, [T30] :%, @
[T31] =—¥, [T32] =3, [T33] :—g, [T34] =—@, [T35] =42, @
[T36] =1,  [T37] :@, [T38] :%, [T39] :@, [T40] =43,
[T41] =9,

A
/
[T42] =41,

[T43] =-1,  [T44] =3

TrigonometryExercise Answers for ID 11806
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3
[Tl] =, [T2] =0, /T3] =m, [T4] =0, [T5]=TTE
[T6]—£ [T7]—3—TE [T8]—£ [T9]—2—TE [TIO]—S—Tc
- 2’ - 2 ) _23 - 3 s - 3
=X oy =iE iyt g st
[]—3, []—3, []—4, []—4, []—4
Ti6 —ﬁ T17 —S—TC TI8, —7—7[ T19] = Hn 720, I
[ ]_ 4 ) [ ]_ 6 ) [ ] - 6 ) [ ] - 6 ) [ ]_ 6
I
[T21] =1,  [T22] =0,  [T23]=-1,  [T24] ="undefined",  [T25] =1, S
3 ! il
[T26] =0, [/T27] = "undefined", /T28] = "undefined", [T29] :T, [T30] :E’ ,7
24/3 2 2 |
[T31] =-2,  [T32] = T[ [T33] = £ [T34] = — g [T35] =1, , 4
-1 3 24/3 |
[T36] =1, [T37]:;, [T38]=£, [T39]:—T[
[T41] =9, [T42] =14,
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. [T40] =2, g
[T43] =26,

[T44] =5
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TrigonometryExercise Answers for ID 12219

[T1]=0, [T2]=n,  [T3]=0, [T4]=m,  [T5]= 37“
6] = — 7] =L 78] =— T =22 r10] =2
[ ] - 29 [ .] - 2 > [ ] - 27 [ ] - 3 s [ ] 3
Ti1] == 12 =22 r13) =% T14 =1 TI5] =~
[ ] - 39 [ ] - 3 > [ ] - 4 B [ ] - 4 B [ ] - 4
T16] =2~ T17] == T18) == 7107 =1 20 =2
[ ] - 4 > [ ] - 6’ [ ] - 6 s [ ] - 6 H [ ] 6
[T21] =0,  [T22] =-1,  [T23] =1,  [T24] ="undefined",  [T25] =-1, 7\
[T26] =0,  [T27] =0,  [T28] = "undefined",  [T29] = @ [T30] :%, 7\
[T31] =2,  [T32] = @ [T33] = —ﬁ, [T34] = —@, [T35] =1, 7\
[T36] =A[2,  [T37] = @ [T38] = % [T39] =2, [T40] =43, , 7\
[T41] =27,  [T42] =-9,  [T43] =4,  [T44] =11
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TrigonometryExercise Answers for ID 12954

[Tl]=n,  [T2]=0, [T3]=n,  [T4]=0,  [T5] :37“
1= gyt gt =t o=t
[T6]="r  [T7] =", [T8]=—,  [T9=—  [TI0] ==
ry = iy =t sy == 14l <tE  rrpspoF
[TI] == ([TI2]=7.  [TI3]=". [TI4 =" [TI5]="
T16) =2~ 717) =T T18] =— 7197 = L= 120] =%
[TI6] ==, [TI7]=— [TI§] =, [TI9] =" [T20] ="
J
[T21] =-1,  [T22] =0,  [T23] ="undefined",  [724] ="undefined",  [T25] =0, =
3 -1 "
[T26]=-1,  [T27]=-1,  [T28]=0,  [T29] ="~ [T30] =", -
(134 :#’ [132] =2, [T33]:—@, [T34]=—@, [T35] =1, @
(136] =2, [T37J=§, [m]:@, [T39]=@, [T40] =2, @
[T41] =6, [T42] =213, [T43] =21,
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[T44] =22
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TrigonometryExercise Answers for ID 12964

[TI] =0, [T2] =0, [T3] =m, [T4] ==, []“5]:377.E

6] = — 7] =L 78] =— T =22 r10] =2
[]_29 [.]_27 []_27 []_33 [ ]_3
57 T T E 5n
[Tl ==~ [T12]=7.  [T13]=7.  [Tl4] =" [T15] ==
3n 11n Tn Sm b1
[TI6] == [T17]== . [TI§] =" [T19] == [T20] =,
[T21] =1,  [T22] =0,  [T23] ="undefined",  [T24] = "undefined",  [T25] = -1, @
3 1 Ji
[T26] =0, [T27]=0,  [T28]=-1,  [T29] ===, [T30] =, S
[T31] =43, [T32) :@, [T33] :@, [T34] = —@, [T35] =1, @
[T36] =2, [T37] = @ [T38] = 31 [T39] =+[3,  [T40] = - # , @
[T41] =-18,  [T42] =-17,

[T43] =-32,  [T44] =1
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TrigonometryExercise Answers for ID 12971

[T1] =0,  [T2]=n, [T3]=n, [T4] =0, [T5] :37“

T RE s
[T6] =—, [T7] =—.

[T8]—£ [T9]—£ [TIO]—4_TE
2 T2 2 T3 T3
Tl *Z_E TI2 2T TI3 *S_E T4 *3_TE TI15 *7_TE
[T = [T =T [T3)=T [T =T [TIS] =
T16 T T17] = e T18 -t T19 —S_TE 720 —7_TE
[ ]_45 [ ]_65 [ ]_67 [ ]_67 [ ]_6
\
[T21] =1,  [T22] =0,  [T23] ="undefined",  [T24] = "undefined",  [T25] =-1, , {
1 3 "0
[T26] =0,  [T27]=-1,  [T28] ="undefined",  [T29] =2,  [T30]=-"— =~
243 2 2 |
[T31] =43, [T”]:T[’ [T33]=—§, [T34]=§, [735] =42, #
-1 3 24/3 \
[r36] =2, 137 =7, w2 o5 [T"O]:‘T[’ 4
[T41] =-30,  [T42] =46,  [T43] =218,
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[T44] = -12
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TrigonometryExercise Answers for ID 13023

[Tl]=n,  [T2] =0,

3n
[T3]=m  [T4=0, [T5] ="
6] =— 7 =28 78] = — o) = 2% 0] =2~
[]—2 []—27 []—27 []—3, []—3
117 =28 T12] == T13] == 147 =L T15] =
[]—3, []—3 []4 []—4, [TI5] =
T16] =~ 177 =% 18] =L~ T19] == 20) = LT
[]—4, []—6 []_6’ []_6’ [T20] =
[T21] =1,  [T22] =0,  [T23] = "undefined",  [T24] =-1,  [T25] =-1, @
[T26] =0,  [T27]=0,  [T28] =1, [T29]:%, [T30]——@, @
[T31] =2, [T32]:@, [T33]:@, [T34]:—@, [T35] =1, @
[T36] =—[2,  [T37] =— @ [T38] = % [T39] =2, [T40] =43, ) @
[T41] =-16,  [T42] =-22,  [T43] =16,

[T44] = -3
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TrigonometryExercise Answers for ID 13033

[T1] =0,  [T2]=m,

37
[T3]=0,  [T4] = [T5] ="
T6] =2~ 7] == 78] =— o] = 2% T10] =~
[]—2, []—2, []—2 []—3, []—
i1y =2 T127 =22 T13) =22 T14 =22 T15) =1~
[]—3 []—3, []—4, []—4, []—4
T16] =— 17 =% T18] =~ r19) = L% 20 =&
[ ]—4, [ ]—6 [ ]_6’ [T19] = [T20] p
[T21] =0,  [T22] =-1,  [T23] =-1,  [T24] = "undefined",  [T25] =0, @
3 -1 1
[T26] =<1, [T27] ="undefined’,  [T28] =0,  [T29] ="=  [T30]=7. %1
[T31]:—#, [T32]:@, [T33]:£, [T34]:@, [135] =2, @
[T36] = /2, [T37]:%, [T38]—@, [T39] = J_ [T40]—@ @
[T41] =-63,  [T42] =-5
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[T43] =-54,  [T44] =-41
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TrigonometryExercise Answers for ID 13197

[T1] =0,  [T2] =0,

3n
[T3]=m  [T4=m,  [T5]=""
76, _3_75 17 - T8 - T9 —2—n T10, _4_n
[]_27 []_27 []_27 []_33 [ ]_3
T11 —S—TE TI2 - T13 —S—TE T14 Iz TI5 i
[ ]_ 3 > [ ]_ 39 [ ]_ 4 > [ ] 4 > [ ]_ 4
Ti6, *ﬁ T17, 1 T18 _= T19] = Hr 720, ek
[ ]_ 4 H [ ]_ 6 H [ ]_ 6’ [ ]_ 6 H [ ] 6
[T21] =0,  [T22] =-1,

\
[T23] = "undefined",  [T24] =1,  [T25] =,

"
1 I3 \
[T26] =0, [T27] =-1,  [T28] ="undefined”,  [T29] =2, [T30] ==~

5

[T31] =+[3,  [T32) :@, /2

[T33]:_T’ [T34]:—£,

[\

[T35] =2, Al
3 1

R

[136] =2, [137] =~

[T41] =6,

>[5
~

1
T38] =~
b [ ] 2’

W

[T39] =2,  [T40] =

[T42] =13,  [T43] =172,

[T44] =25
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TrigonometryExercise Answers for ID 13907

[T1] =0,  [T2] =0,

37
[T3] =m, [T4] ==, [T5]=7
37 b b b 27
[T6]:7, [T7]:5, [T8]:5, [T9]:;, [TIO]:T
T11 *S—E TI2 74_75 TI3 *S—TE T4 77_75 TS5 I
[ ]_ 3 H [ ]_ 3 H [ ]_ 4 H [ ]_ 4 s [ ] 4
TI16 —ﬁ T17] = ln TI18 —ﬁ TI19 —S—R T20 I
[]—4, []_6’ []_6’ []_6’ []—6
[T21] =1, [T22] =0, /T23] = "undefined", [T24] =0, [T25] =1, ,@
[T26] =0, [T27] =-1, [/T28] = "undefined", [T29] :@, [T30] :%, ,@
[T3I]:@, [T32]:«/;, [T33]:@, [T34]=—@, [T35] =1, ,@
[T36] =1, [T37]:£,

1 24/3 \
(138] =5, (139 =3, [T40]=T[, -
[T41] =-9, [T42] =63,
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[T43] =4,  [T44] =-13
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TrigonometryExercise Answers for ID 13991

[T1] =0, [T2] =m, [T3] =0, [T4] =m, [T5]:§

[T6]:3—ﬂ, [T7]:£, [T8]:3—n, [T9]:4—n, [T]O]:z—Tc
2 2 2 3 3
[T11] =5—n, [T12] =£, [T13] =5—n, [T14] =3—n, [T15] _Ir
3 3 4 4 4
z Rkl X L In
[T16] = g [T17] = P [T18] = e [T19] = P [T20] = p
J
[T21] =0, [T22] =-1, [T23] = "undefined", [T24] = "undefined", [T25] =0, T
3 1A
[T26] = -1, [T27] =-1, [T28] = "undefined", [T29] =———, [T30] = > -
[T31] = -2, [T32] :@, [T33] = @ [T34] = —@, [T35] = ~ﬁ , , 7\

[T36] =—[2,  [T37] = ;1 [T38] =— @ [T39] = @ [T40] = -2,

>

e

[T41] =2,  [T42] =-18,  [T43] =21,  [T44] =-40
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TrigonometryExercise Answers for ID 14005

[T]] =m, [T2] =m, [T3] =0, [T4] =0, [T5]:§

o) =2 =t oy =i =R e =Z
2 2 2 3 3
47 S5n L3 Tr kR
[TH]="0  [T12] =77, ([TI3] =", [TH]="r.  [TI5]=""
5w S5n Tn T 11n
[TI6] ==, [TI7]=""~.  [TI8] ==~ [TI9]=".  [T20]=

[T21]=-1,  [T22] =0,  [T23]=0,  [T24] ="undefined",  [T25] =0,

A
/
3 1 il
[T26] =1, [T27]=0,  [T28] ="undefined",  [T29] ===, [T30]=—, o
"0

[T31] =-2 23 2 ﬁ

[132) === [T33]="_  [T34]="—, [T35] =2, S
[T36] =1, [T37]:§, [T38]:%, [T39]:@, [T40] = -2, ﬂ

[T41] =40,  [T42] =-24,  [T43] =1,  [T44] =326
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TrigonometryExercise Answers for ID 14157
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[TI]=0, [T2]=0, [T3]=n  [T4]=n,  [T5] :g
T RE s 37 271 T
[r§]=7.  [T7]=" (T8 = [19="  [T10]=7
i =22 12 =% T13) =% T14] =~ r15) =22
[ ] - 3 B [ ] - 3 B [ ] - 4 B [ ] - 49 [ ] - 4
T16] =~ 717) =L T18) == T19] =— 20 ==
[ ]_ 4 > [ ] - 6 s [ ] - 6 > [ ] - 6’ [ ] - 6
[T21] =0,  [T22]=-1,  [T23] =0,  [T24] ="undefined",  [T25] =0, @
I3 -1 \
[T26] =-1,  [T27]=0,  [126] ="undefined",  [129] ="~ [T30] =7, i
[T31]:£, [T32] =3, [T33] =—£, [T34] :@, [T35] =2,
I3
[T36] =1,  [T37] =~—,

-1
T38] =—,
[138] =~
L>

I3
[T39] ==,
[T41] =5,  [T42] =-36,  [T43] =13,

3 2
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